



Name: _____

Datum: _____ Ergebnis: _____

$$\left(-\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \frac{1}{4} =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\frac{3}{5} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^{(-1)} + \frac{3}{5} =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{3}{5} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) =$$



Name: _____

Datum: _____ Ergebnis: _____

$$\left(-\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{6}\right) = \frac{151}{6} = 25\frac{1}{6}$$

$$\left(-\frac{2}{5}\right)^{(-1)} - \frac{1}{4} = \left(-\frac{11}{4}\right) = \left(-2\frac{3}{4}\right)$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{1}{6}\right) = \frac{31}{6} = 5\frac{1}{6}$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{1}{2}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{5}\right) = \frac{2}{5}$$

$$\left(\frac{3}{5}\right)^{(-1)} + \frac{3}{5} = \frac{34}{15} = 2\frac{4}{15}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} = \frac{13}{36}$$

$$\left(-\frac{1}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{6} = \frac{11}{6} = 1\frac{5}{6}$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \frac{3}{5} = \frac{107}{45} = 2\frac{17}{45}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{1}{3}\right) = \frac{28}{3} = 9\frac{1}{3}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{5}\right) = \frac{11}{5} = 2\frac{1}{5}$$

$$\left(-\frac{3}{5}\right)^{(-2)} + \left(-\frac{1}{4}\right) = \frac{91}{36} = 2\frac{19}{36}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{3}\right) = \frac{11}{3} = 3\frac{2}{3}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{6} = \left(-\frac{5}{48}\right)$$

$$\left(\frac{3}{5}\right)^{(-2)} + \left(-\frac{3}{4}\right) = \frac{73}{36} = 2\frac{1}{36}$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) = \frac{3}{4}$$